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Q. 1. Fillin the blanks. 2x1=2
1. Losses occur either due to inherent nature of the product or due to operation of
il. Loss of weight due to evaporationis a ...............cooevueenn... loss.

Raa vt & gfitf AR

(31) =TT A1 A1 IR BT WIS Ui & HRT BT & AT
@ fBareld 8 & BRI |

Q2. Srikanath consigned 2,500 kg of coconut oil costing Rs. 50,000. Expenses
incurred were Rs. 1,400. Consignee spent Rs. 2,000 on unloading and cartage.

100 kg of oil was lost due to natural deterioration and 1,500 kg were sold.
Calculate the cost of stock at the end. 3x1=3

$NHBIT = 50,000 WO B ARTT BT 2,500 fHOUT0 PBIBIFE & Aol TRYUT TR AT |
39 G H S 1,400 W0 WA HRA U | WA 7 A IR 3R S ATS!
HTST UR 2000 [0 &T @ fhar| 100 fHoU™ dat W@rIfdd RN A T 8 741
3R 1,500 fHoTT0 Tt =T TRAT| @i Wi & wU H 99 U I DI AN Dl
TOTT BT |

Q 3. Give journal entries for the following adjustments:

1. Interest received in advance Rs. 600.
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Q4.

il. Interest on drawings Rs. 1200.
iii.  Provision for discount on creditors Rs. 200.
v. Loss of goods by theft Rs. 8500.
V. Drawings of goods by the proprietor Rs. 750.

frefofaa FarieHl @ forg ovia wfafieddt v
(31) 31 <o BT YTt %0 600 |
(&) 3BT WX TS 1200 HUY |
() oFeRI R B¢ & oy Urag 200 w9 |
(€) A1 & PR A BT B 8500 WU |
() Tl gRT HIeT BT SATER0T 750 B |

On taking out a Trial Balance a book-keeper finds an excess credit of Rs. 2460.
Being desirous of closing the book, he places the difference to a Suspense
Account, which is carried forward. In the next period, he discovers the following

errors. Pass the rectifying entries and prepare the Suspense Account. 1x10=10
a. Returns Inwards Book has been totaled short by Rs. 400.
b. A sum of Rs. 4800 written off as depreciation on machinery has not been

posted to the Depreciation Account.

c. A discount of Rs. 1000 allowed to a customer has been pasted to his
account as Rs. 100.

d. The Sales Book was undercast by Rs. 4000.

e. Purchase of Rs. 480 was posted as Rs. 840 in the suppliers account.

T dolUC Bl - R 981 odd DI Al ISl © [ BfSc H 2460 w0 3AfH
fegrar 1 21 gfe 98 98 P € HAT ArEdr ¥ iy S 39 AR Bl
Sad @ H St fagn, O M o SIEm T enTel [y Hosw e
AYIGAT <@ ¥ 3N | YT GIR B YfdedT HITY T o War g7y |

(37) ATt ATURAT GBI BT ANT 400 WO H HH T TAT 2 |

(@) TR R eI & folu UfeIRad w0 4800 & WA Ui H

T B TE B

(d) U% UTEd DI & TS 1000 HO B B I WA SHD @I H 100

w0 D wY H B TS T

(%) faa T€1 &1 INT 4000 FO HH AT AT & |
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(1) 480 W0 B AT D BT DI WM AAIR & GId H 840 WO & ®U H

PR TE T
Q5. From the following balances of Hitesh, prepare a Balance Sheet as on December
31, 1987. 1x10=10
Hitesh’s Capital 41,000
Drawings 6,100
Wife’s Loan 4,000
Sundry Creditors 45,000
Cash in hand 250
Cash in Bank 4,000
Sundry Debtors 40,500
Patents 2,000
Plant and Machinery 20,000
Land and Building 26,000
Stock in Hand 36,500

Net profit for the year was Rs. 45,350
fedwr & FafRad 99 @ MR W 31 W, 1987 & o= e 98T

feaer @1 Yoit 41,000
SIS 6,100
Tl o ST 4,000
fafaer oFeR 45,000
Jbs Y 250
d% # 99 4,000
fafdy <= erR 40,500
e 2,000
e IR 939 I 20,000
9 3R e 26,000
EIED 36,500

59 a4 H Y& M [0 45,350 BT |

Q6. Prepare Profit and Loss Account from the following balances extracted from the

books of a business for the year 1987. 1x10=10
Gross Profit Rs. 1, 85,000
Salaries 20,000
Rent and Rates 5,000
Stationery 1,000
3

Solved question paper, guess paper, 10 year, 5 year question bank, paper patterns


http://www.howtoexam.com

http://www.howtoexam.com

Postage 500
Insurance 2,000
Repairs 1,500
Depreciation 5,000
Advertisement 5,000
Discount (Dr.) 500
Commission of Salesmen 5,000
Bad Debts 2,000
Loss y Fire 2,000
Interest on Investment 2,500
Profit on Sale of Investments 2,000

Ty 1987 ¥ HaRd Fr=felRad oy i) Favay @l oi@r gedsl | fou Y § |
S AR W IABI AH—LI War g18U |

NESRSIGH 1,85,000
qa- 20,000
fopvTaT 3R X 5,000
I 1,000
6 Yoh 500
ClEill 2,000
TRE 1,500
Bl 5,000
fasimo= 5,000
e 500
JqHT BT HHIIE 5,000
MY FEoT 2,000
T o9 & &If 2,000
a9 w® |t 2,500
et @ faeg 9 o 2,000
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